Which one is the precursor of chlorophyll—
(A) Tryptophane

(B) Carotene

(C) BothA&B

(D) Chlorophyllide

NH, release from—
(A) CAM

(B) Dark respiration
(C) Photorespiration
(D) None of these

Which of the following have CO, compensation
point—

(A) C, plants
(C) BothA&B

(B) C, plants
(D) None of these

In C, pathway or C, photosynthesis carbon
dioxide fixation occurs in chloroplast of—

(A) Spongy mesophyll

(B) Palisade

(C) Sheath

(D) None of these

The element which is required by the sea plants
B

(A) Zinc (B) Sodium

(C) Gold (D) Silver

Nitrogen absorbed by plants is—
(A) Converted to Nitrogen

(B) Mix withammonia

(C) Combined with oxygen

(D) None of these

Anexample of a parasitic plant that is also strictly
epiphytic is—

(A) Viscum (mistletoe)

(B) Dodder

(C) Rafflesia

(D) None of these
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10.

11.

12.

13.

14.

15.

16.

The conducting tissues of the plants are—
(A) Lem

(B) Xylem

(C) Phloem

(D) BothBand C

Water infiltration will be slowest in—
(A) Black cotton soil

(B) Sandy soil

(C) Red soil

(D) None of these

Osmosis is the diffusion of—

(A) Solute (B) Water

(C) Free energy (D) None of these

Addition of solute in the cell develops—

(A) TP (B) DP

(C) OP (D) None of these
DPD is equal to—

(A) OPx TP (B) OP+TP

(C) TP-0OP (D) OP-TP

In plants water ascents through—

(A) Transpiration pull

(B) Force

(C) Volume

(D) None of these

Guard cells are found in—

(A) Roots tips (B) Stomata

(C) Ovary (D) None of these
Cork tissue arises from—

(A) Periderm (B) Phellogen

(C) Phelloderm (D) None of these
Walls of sclerenchyma are—

(A) Rigid

(B) Lignified

(C) Pactinised

(D) None of these
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17.

18.

19.

20.

21.

22.

23.

24.

25.

Periblem gives rise to—
(A) Cortex

(B) Medulla

(C) Cycle

(D) None of these

Cuticle is secreted by—
(A) Endodermis (B) Hypodermis
(C) Epidermis (D) None of these

Vascular bundles are scattered in—
(A) Bryophytes

(B) Dicot root

(C) BothA&B

(D) Monocot stem

Polyarch condition is seen in—
(A) Monocot stem

(B) Dicot root

(C) Monocot root

(D) None of these

Conduction of sap in plants occurs through—
(A) Sap wood (B) Heartwood
(C) Xylem (D) None of these

Cambium causes growth in—
(A) Circumference  (B) Length
(C) Width (diameter) (D) None of these

Conical fleshy roots occurs in—

(A) Sweet potato (B) Dahelia

(C) BothA&B (D) Carrot
Napiform roots are recorded from—

(A) Radish (B) Carrot

(C) Beet (D) None of these

Hygroscopic roots occurs in—
(A) Vanda (B) Rhizophora
(C) Bryophyllum (D) None of these
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26.

27.

28.

29.

30.

31.

32.

33.

34,

Climbing roots are presents in—

(A) Rose (B) Piperbetle
(C) BothA&B (D) None ofthese
Which is not a stem modification—

(A) Rhizome of Ginger

(B) Tuber of Potato

(C) Pitcher of Nepenthes

(D) None of these

Potato is multiplied vegetatively with the help
of—

(A) Tuber (B) Corm

(C) Rhizome (D) None of these
In opuntia, the function of photosynthesis is
carried out by—

(A) Bulb

(B) Cladode

(C) BothA&B

(D) Phylloclade

A horizontal underground stem is a—

(A) Corm (B) Rhizome

(C) Rhizoid (D) None of these
Eye of potato is—

(A) Apical bud (B) Axillarybud
(C) Accessorybud (D) None of these
Storage leaves occur in—

(A) Allium (B) Zizyphus

(C) Neem (D) None of these
A simple leafiis present in—

(A) Neem (B) Peepal

(C) Mimosa (D) None of these
In sweet pea, the tendrils are modified—
(A) Stipules (B) Leaves

(C) Leaflets (D) None of these
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35.

36.

37.

38,

39.

40.

41.

42.

Free lateral stipules occur in—
(A) Mango/Mangifera

(B) Rice/Oryza

(C) Maize/Zea

(D) Chinarose/Hibiscus

The most advanced type of inflorescence is—
(A) Corymb (B) Catkin
(C) BothA&B (D) Capitulum

The flowers in the receme / racemose are
arranged—

(A) Acropetally
(C) Centripetly

(B) Basipetally
(D) None of these

In china rose, the inflorescence is—
(A) Cymose

(B) Capitulum

(C) Solitary cyme

(D) None of these

Cyathium is a type of—
(A) Fruit (B) Inflorescence
(C) Fungus (D) None of these

National flower of India is—
(A) Lotus

(B) Rose

(C) Carica

(D) None of these

A characteristics of angiosperms is—
(A) Flower

(B) Root

(C) Seed

(D) None of these

Smallest flowers belongs to—
(A) Antiquorum

(B) Wolffia microscopica
(C) Rose

(D) None of these
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43.

44.

45.

46.

47.

48.

49.

50.

An example of axile placontation is—
(A) Marigold

(B) Argemone

(C) Lemon

(D) None of these

In maize the flowers are—

(A) Absent

(B) Bisexual

(C) Unisexual but on different plants
(D) Unisexual buton the same plant

Aleurone layer is—
- (A) Haploid (B) Diploid )
(C) Triploid (D) None of these
Edible part of apple is—
(A) Thalamus
(B) Pericarp
(C) Mesocarp
(D) None of these
The hardest part of drupe is—
(A) Mesocarp (B) Endocarp
(C) Pericarp (D) None of these

Hesperidium of orange is a modification of—

(A) Berry (B) Drupe
(C) Pome (D) None ofthese

A plant called plantless root is—
(A) Arceuthobium

(B) Podostemon

(C) Rafflessiaand sapria

(D) Allof these

Vexillum, alea and keel are—
(A) Androecium

(B) Gynoecium

(C) Corolla

(D) None of these
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63.

64.

65.

66.

67.

68.

69.

70.

Who is/are the members of Rajya Sabha from
Uttarakhand—

(A) Tarun Vijay

(B) Ajay Tamta

(C) Mahendra Singh Mehra

(D) A & CBoth

Choose incorrect matching in the Members of
Parliament of Lok Sabha—

(A) B.C.Khanduri — Pauri Garhwal
(B) MalaRajlaxmi — Tehri-Garhwal
(C) Bhagat Singh Koshiyari — Almora

(D) None of these

The state tree of Uttarakhand—
(A) Buransh (B) Ashok
(C) Teak (D) Cheer

First speaker of Legislative Assembly of
Uttarakhand—

(A) Yashpal Arya (B) Prakash Pant

(C) Nityanand Swami (D) None of these

The serial of Uttarakhand in newly formed states

on November 2000 is—
(A) 25th (B) 26th
(C) 27th (D) None of these

Which is the second state language of
Uttarakhand—
(A) Urdu

(C) Garhwali

(B) English
(D) Sanskrit

What is the minimum age for the post of
Governor ?

(A) 25 Years (B) 30 Years

(C) 35 Years (D) None of these
Which tribe worships the God ‘Mahasu’ ?
(A) Jaunsari (B) Tharu

(C) Buxa (D) None of these
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71.

72.

73.

74.

73,

76.

77.

Who is called Kumaon Kesri in Uttarakhand ?
(A) Pt. Govind Vallabh Pant

(B) Badri Prasad Pandey

(C) Om Chandra Joshi

(D) None of these

The highest Dam of Uttarakhand is—
(A) LakhwarDam  (B) KisauDam

(C) Tehri Dam (D) None of these
Where are the highest tribal people found—
(A) Rudraprayag

(B) Udham Singh Nagar

(C) Tehri

(D) Haridwar

Which country’s flag was raised for the first time
at United Nations headquarters in New York ?
(A) Palestinian (B) South Sudan

(C) Bolivia (D) Ammenia

Malcolm turnull was sworn in as the 29th Prime
Minister of which of the following countries ?
(A) Switzerland (B) Sweeden

(C) Australia (D) Jamaica

Which of the following is awarded with skoch

smart Governance Award ?

(A) Nellore City Municipal Corporation

(B) Thiruvananthpuram City Municipal
Corporation

(C) Chennai City Municipal Corporation

(D) Tiruchirapalli City Municipal Corporation

World’s highest terrestrial Research and
Development Centre has been established in
which Indian state ?

(A) Jammu & Kashmir

(B) Uttarakhand

(C) Sikkim

(D) Manipur
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78.

79.

80.

81.

82.

83.

84.

In how many districts the second phase of
Mission Indradhanush has been launched ?

(A) 100 B) 152

(C) 352 (D) None of these

Which of the following cities will host 13th World
Spice Congress ?
(A) Mumbai
(C) Chennai

(B) Ahmedabad
(D) New Deihi

Recently, which of the following state has
imposed the Drought Tax ?

(A) Madhya Pradesh

(B) Uttarakhand

(C) Uttar Pradesh

(D) Rajasthan

Who will inaugurate the National Conference
on Human Trafficking ?

(A) Pranab Mukherjee

(B) Narendra Modi

(C) Rajnath Singh

(D) None of these

Noted =752 Poet Viren Dangwal passed

(B) Sanskrit
(C) Tamil (D) Hindi
Government released commemorative postal
stamp on—

(A) M. K. Gandhi

(B) Bhagat Singh

(C) S.C. Bose

(D) B.R. Ambedkar

“Globalization, Democratization and Distributive
Justice™ has been authored by—

(A) Mool Chand Sharma

(B) Kiran Desai

(C) Chetan Bhagat

(D) None of these
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92.

93.

“30 Women in Power” has been written by
whom ?

(A) Chanda Kochchar

(B) Naina Lal Kidwai

(C) Indira Nooyi

(D) None of these

The battle between Alexander and Porus took

place on the bank of river—
(A) Ganga (B) Yamuna
(C) Jhelum (D) Satlyj

The first translator of Mahabharata into Tamil
was—

(A) Kamban (B) Perundevanar

(C) Bharavi (D) None of these
The historian Kalhan was—

(A) Buddhist (B) Jain

(C) Brahmin (D) None of these
Raidas, Sena and Kabir were the follower of—
(A) Ramanand (B) Namdeo

(C) Ramanyyj (D) None of these

Guru Govind Singh was killed in 1708 at—
(A) Amritsar (B) Ambala

(C) Keeratpur (D) None of these
Baburhad........0%... wives.

A) 1 ®B) 9

) 7 (D) None of these
What is ‘Mokasa’ ?

(A) Jagir (B) Religion

(C) Raja (D) None of these
Swaraj Party was formed by—

(A) M. N. Roy

(B) C.R. Das and Motilal Nehru

(C) M. K. Gandhi

(D) None of these
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Where is the Indus civilization city Lothal ?
(A) Punjab

(B) Haryana

(C) Gujarat

(D) None of these

Which of the following planets is said to be the
“twin sister” of Earth ?
(A) Saturn

(C) Mars

(B) Venus
(D) Mercury

Which of the following is a ferromagnetic
material ?

(A) Quartz (B) Bismuth

(C) Nickel (D) Lead

Tropic of cancer passes through which of the
following state of India—

(A) West Bengal (B) Maharashtra

(C) UttarPradesh (D) Haryana

India’s longest railway platform is at—

(A) Allahabad Railway Station
(B) Gorakhpur Railway Station
(C) Chennai Railway Station
(D) None of these

Which of the following states is known as the
“Rice Bowl of India” ?

(A) Uttar Pradesh

(B) Uttarakhand

(C) Andhra Pradesh

(D) None of these

Which of the following phenomenon occurs at
new moon when the moon comes between the
sun and earth ?

(A) Lunar eclipse

(B) Sidereal day

(C) Annual eclipse

(D) Solareclipse
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